X277 7"7 ';wn 2,7x »"2 702

Here too, for instance that there is - 2779152 D12 PO WOR 11D 21 RO
an involvement of an oath between them

Overview

The x7n3 explains the reason why the PR is 217 (according to "1 1"7 who maintain
7%7Y 972 1RY) is because the PR owes the °Xwn a 712w (in an unrelated matter) and
the 2°Xwn is 2323 on the PR the 7v1aw that 7nn 75w and since y2w°2 7157 X (for
he claims ¥71° °1°R) he has to pay. The inference is that (°*"17) 1"1 maintain »"?Xwn.
Our mooin discusses this issue (at length).

Mmoo responds to an anticipated difficulty:
= YN 92IVN NV RNY TINYNI 92 IV 19IVY XNYINNI DIPN TN

Nonetheless (even though there is an 07°1°2 712w poY) in the middle case, where

the 22w claims 572 (that i 775w) and the 9 8w claims X»w, the 12w is exempt

from a 7193 °"y 71w -
- NINPNA Y NMNY 29 YY IN 1P9DM IWIAVNY 1122 HINWUND PNY

For the »}w» cannot adjure him based on a doubtful claim (of X2?) even though
the 70 is a %'"'2 and 21 a 712w, he cannot be poon 39an.

n1voIN asks:
- DYYUN YaAYIY 9199 PRI NYAY 2MNNM 1IN 299 1Y HINT NN YNRUNT 9NN ON)

And if you will say; that it seems from here that 1" maintains 25w 5" >R -
= VN DY PNIVYN JN2IY 191 253D (xnavn Hnmnn 1327 0wl K, 97 maw) 1PYAYWIN DD P99

And in Pyawin 93 P9 regarding the case where both litigants were suspect to

swear falsely, the rulings are -
= HP19N N Y05 529 NN 229 2927 NNIPNY NYIY NN

»''% maintains the 72w returns to its origin, while >''3 maintains we divide -
= MIPNY NYIAY NN 9INT INNI ONN 9207 NAN 229N 19N 29 MY

And 1"'1 argues with X''9, for X" agrees with the one (2"7) who rules 7y2aw 390
TIPID -

!'See o121 1"7 '0n on the '} Ty [TIE by footnote # 35].
2 In the mwn there (on X,7n) it states that generally all n" nw1aw the person swears and is exempt. However there
are certain My12w where the one who swears collects. One example is if the party obligated to swear (a n"2m for
instance) is m12wa Yy TWwn then the v (the 7191) may swear and collect. The dispute between "1 n"9 is where both
the v2 0 and the van1 are 7vaw:s Yy pwn.
3 This will be explained shortly.
4 The yana (the mMY) pays half the disputed amount to the ¥21n (the m%n).
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- QYWN YAWIY 19 PRY TINDY ¢NY 2N1Y 199907 SNAN %29 YW991)
And X' explained that 72pn% 7312w 771 means to the one who was originally

obligated to swear, and %" Rwn,
- Y01 5395 119N INTAIY N3 29 13y ONN VIND)

And the X3 relates there that 1" ruled in a case that y»Y9m like "' and we do
not rule n"9°Xwn, and here it appears that 1"7 maintains n"?°Xwn!

nBoIN answers:
= 9N 295 NINT PNINND YPINT 91917 VN

And one can say; that 1"1 establishes our 7127 here like »''1 -
= %D %295 920 PN DAN ENAN 229 W97 1Y 2%NNIY 139N NMPNRY Y99

And 1" will explain (according to »"9) that 2¥p%® 7312w 73717 means to the one
who was initially obligated to swear as X' explained it. However 1"7 himself
agrees with °''9 that we rule 2151 but not n">xwn.

To summarize; there are those who maintain n"?°Xwn, namely "9 according to X" (and that is
how 1"1 will explain our mwn that it is according to this view) however *01 "7 and 1" disagree and
maintain we do not say n"2Xwn (but rather y21%m°). [w" also do not rule »"Rwn. ]

mooIN asks:
= NAN 2299 19977 ¥IYN (G2 Hnnnn 1201 0w &,15 97 x93 xa3) DINAN NPIN PI92T NYP YaN

However there is a difficulty; for in 7771 295 it seems that the 715977 is like X' that
n"RYN -

= 1093543 99913 295 19 N1IPI TN9DN PIVAY NN 1239 ININA INIINN INNT
For the later 2°8712K bring proof from X"J how to rule 7759779, but we have

established that the 712957 is always like 1" in civil law; we have contradictory rulings —

mooIn has additional questions:
— (PPN NHND MN1T OV K, 97 mav) PYAYIN DD D927 TV

And furthermore in Pyawas %> poo -

5 There is in the X3 there a different interpretation of 7mpn? 71w 71 namely of YXMW1 27 that 170 712w 77m and
as *"w there °1°0% 1"7 explains that 7"°2 will not get involved, neither to make any party swear, or to make anyone
pay. ¥"7 maintain that where ¥aw® 912° X the ¥an1 is 1w, we do not say n'"?°Rwn.
¢ For instance by a »n"2m where both the m>» and the % were Twn, the obligation of swearing remains on the 7% as
it originally was, and since he cannot swear he must pay. [However if the m>» was not 7w, the 031 NIPN requires
the 7791 to swear before he can collect the money from the m>.]
7 This was in a case of 2>7wn omaw. [The 813 there does not add the words >01 *213.] See ‘Thinking it over’ # 1.
8 Not like w" (see footnote # 5). Since according to "1 we do not say n"2°&wn; the mawn will not be understood.
? Indicating that we accept the view of X" that n"°xwn.
10 According to the previous answer in '01n, 1" disagrees with n"2°Xwn and maintains 1Y9m.
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- 1Agawa NON Y999 XY DI 019N 22)
Regarding the ruling that heirs should not collect a debt from heirs unless they

swear -
= 12,99 5913 11919 NNY NIN 1YW NI HNMWYWI 29 Y919NRT

Were @' ruled the law was only taught if the 7% died while the > was alive -
- 19329 NPAY YN DTN PRI BAamay 1Y 5325 MY’ 250N 925 MY »Na 1Y ) YaN

However if the 777 dies during the lifetime of the 7%, the 7% already owes the

children of the 7% a 772w, and a person cannot bequeath an oath to his children -
= 99 NON DIYN YaNI IN Y21 IN YaW1Y 9199 1IRY 7INN 19299N NYT 99209

For v'"17 maintain that we do not say since either the claimant or the respondent
cannot swear, the respondent must pay, but rather "7 maintain that if neither the

vani or the ¥21n can swear, the ¥ani is "W -
- 19951199 1515199 NINAY PV PYUIN H90aRT TTYIN Y291 3)999)

And v'" argue with 91¥%K '3 who maintains in this case that the heirs of the m%n

swear the w9 72w and collect the debt -
= ¥ANHN DHYYN YN IN YN NINY 20 YAWIY 9199 1INV TINNT AN 5299 TYIN 224 120)

And 719X "1 agrees with X''9 that whenever 2" 8w, regardless whether it is the

paIn or the yani it makes no difference!® the yani pays -
= 9195 XYY 995 XD NN 905K XYY 1923 (3,00 97 ONN MNP

And Xnn 27 said there, since the 712%77 was not decided not like w'"1 and not like
X", so -

- 72y 18979HN 295 TayT T2y VHNMIYY 299 Taye
Whoever rules like @' it is a valid ruling and who rules like 27p®X ' it is a

valid ruling -
= NAN %297 195 %N 9PY INIWI 297 ynRwun

It seems that the view of w''11 (that we do not say n"2°Xwn) is as primary as is the

' The principals (the m2» and the M%) died; the heirs of the M%n cannot collect the debt (even with a W) from the

heirs of the MY unless they swear that the money is owed to them (and they were not paid, etc.)

12 The heirs of the Mm7» can then collect directly from the Mm% without a myaw (if they have a o»pn “ww), and

subsequently can collect from the heirs of the 7% with a 7¥12w. [Any time a loan is collected not directly from the 717

(it was collected from mmipY or o), there mut be an oath taken by the creditor.]

13 1f a m» dies, the Mm% cannot collect from his children (his estate) unless he swears that he is due this payment.

14 %, mn nyaw.

15 The oath of the Pw Y is that they swear that their father never told them that this note was paid, etc. This 732w is

more of a formality; that is not the reason they collect; it is only because n'"2’xwn that is why they can collect.

16 When the ¥ani has to swear, we tell him you either swear or pay (that is the purpose of the 7y12w). Even if the y21n

has to swear, nevertheless in those cases, we make the ¥21n swear (only) to appease the ¥ani, but really the ¥yani would

have to pay 1771 p*wn, therefore if for some reason the ¥21n cannot swear, the ¥an1 has to pay. See ‘Thinking it over’ # 2.

17 w"1 maintain that if an oath cannot be administered the ¥an1 is 71ws.

18 91y%R "1 rules that if an oath cannot be administered n"2°Xwn (and the WY swear Pwn nv1aw; see footnote # 15).
3
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view of R''9 (that n"»xwn)!® -
= 9TYHN 22979 HNINWI 293 NN PaNDn N9 2990913 297 99911 19N BN

And additionally the X723 there does not mention the view of 1'% and the only
doubt is whether we follow @'¥9 or =¥ ', but not 1"1 who ruled 1o,

nmooIn asks three questions. 1. 1" does not agree to n"?RXwn (rather he rules y»1%m° [by amw
o7wn]) and usually the 71397 is like °1°72 1", however it seems from 1"n that the 75917 is like 8"
who maintains n"?°Xwn. 2. The X3 in M2 rules (regarding 0°mIN°7 12 0°20°) that one can either
follow the rule of w"7 (that the 20> are W) or the ruling of TTYHR ' (that n"2°Xwn), however in
1"'n it seemed that the 71277 is like X" (exclusively). 3. The X973 in M¥aw does not mention at all
the ruling of 1" that ypY%m.

MO0IN answers:
= OYYN YAYOIY D192 1INV TINNT NAN 2295 NNIYN NayT> XD /33) 2INIDIT O 122297 NI

And it seems to the n"= that in the cases of 8591 and “fifty I don’t know’?? the

rule is like X' that »""»\wn -
- 29913 29 19298 NN 0N

And there in those cases even 1'% admits that »">xwn -
- 1‘,71511"1 NN 2514799 1) NaAN 299 24])9"\) 2495 N9Y%H ITVYN 192V VYI

However when both (the ¥y21n and the vani) are 7wn, the mo%7 is like 12" and

X'"= will also agree there that Yy,
= YaAV1ID 19915 PRI NAY PPAMNN 1PN DNV DNNT DIYVN 25NNPYV)

19 However from the previously cited 873 in 7"7 it seems that the 7377 is like X" that n"?°Xwn, so how can the X113
in M¥12w rule that one can also follow the view of w"1 who disagree with n"2xwn.
20 1" maintains 191 (in a case of ?"Xwn [by P7wn omaw]). The question is how can Xan 27 not mention 17, since
1972 119 RNIIA.
2! This is where one 7v saw 121 grab a piece of silver (X201) from 1wnw. However 12X1 claimed the X201 as his. X"
ruled that since J2IR1 is 2% a 7¥12W against the X"y who saw him grab, but cannot swear (¥"¥), he is a n"?Rwn.
This is the ruling of X"1 which is accepted 757777 as '01n pointed out previously (see footnote # 9).
22 mpoin wants there should be no conflict between X" 1", Therefore since X" maintains 2"2°Xwn by X301 and 1"
maintains »"?°RWn by K17 &7 '1 then presumably (or certainly) X" also/surely maintains »n"2°Xwn by Riw7> 82 1. [The
vulnerability of the "X by X1v7> 82 "1 is much greater (since he should have known; his claim is very suspicious), than
by Ro01 (where his inability to swear is more of a technical nature than a suspicious one; ¥"*V)]
23 1" will have to agree that by X7 X? '11 R1y7> 1 we say »"2°Xwn, for that is how he is explaining our mwn. The 19w
admits to one cow and is unsure about the other. According to this answer we are retracting what '01n wrote previously
(by footnote # 8).
24 That is where 1" ruled 191 (see footnote # 7).
25 mpoIn needs to say that X" is 77 in order there should be no conflict between the rulings of 1"1 and X". Shortly
(see footnote # 32) maoin will explain how come the X713 in My12W states that according to X" the ruling of " by
PN 07w is n"Rwn, when here N190IN states that X" agrees with 1" that by 17Wwn o7°w the rule is y1om.
26 Since 1" agrees that n"2Xwn, and by >7wn omaw he rules 2191, therefore '01n explains that the %7 by omw
7w is a result of n"PRwWH.
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And the reason why by 171w 1721w we say 12 and not n"2°Xwn, is because there

they were both obligated to swear and they could not swear?’-
- 28925 9199 139N 11?9 NAN 2297 DYLN I8N TN I PTIUIN DNV 7o)

so they both lose; each one half on account of X''9 since they cannot swear, so -
- Y9N 739 DIV XY YN BYWN yann

The van: pays and the ¥2'n does not collect, and therefore they split.

mooIn answered the first question that 1"7 agrees with X" that n"9°Xwn; however by PTwn oniw,
they are both »"?&wn therefore 12171, The other two questions (regarding °mn7 12 22n°) will
be addressed later.

mMooIn anticipates a difficulty:
= 3075 2NN NWAY NN MIINRT IRIY NINIY 19912 2PDNN 9INPT NN

And this which "X 17 stated there, our Rabbis in *"'X who say the 7312w returns

to the one who was initially obligated to swear -
- 329585 9245 920 NaN 2297 DIV IND 3NAN 2297 NIDIM 2N

And the X713 cites from the case of R''97 8201, that is not because R''9 agrees with
n'"s -

mooIN responds:
= OOWN YaWrY D199 1RY TINN NODI 9204 AN 29 293919 NIMNT NON

But rather the X713 means to say, that since it is evident from the ruling of X''9

that by the case of Xo01 he maintains %" Rwn -
- 19 29NNRY NPIPNY PNN 5397 1INTM YIS 3133 1INT Y9 139 Y

%7 See footnote # 6. The ¥an1 (the n"21m) had to swear initially but did not since he was a Twn (therefore he loses and
has to pay), but the ¥21n also had to swear (as a result that the vyawi was a 71wn), but he also did not swear (since he too
was a 7wn) so he loses and cannot collect; we reconcile these two opposites (one paying and the other not collecting)
by ruling 12¥21° (the ¥an1 pays half, and the y2n loses half; they each lose since n"?°xwn.
28 Whoever cannot swear loses; if only the ¥an1 has to swear and cannot, he loses and pays; if only the yn has to
swear and cannot, he does not collect. If they both have to swear and cannot, they both lose — half. [This is not like
the view of 71¥2R "1 (by 0°m1n°77 1» 02n°) that whenever someone cannot swear (whether it is the ¥21n or the van1) the
¥an1 must pay. (This seemingly indicates that 1"1 and X"1 do not agree with 71¥2x " that even if only the ¥21n cannot
swear the ¥anl must pay. See [text by] footnote # 16.)]
29 R,7 mynaw. This is regarding the view of »"7 that by o>1wn omaw the rule is Apn? aviaw 77, There are two
interpretations as to what "9 meant.
30 This means in a case of a n"2m where both the m7» and the M“ are 17wn, the rule according to 2"7 as X" (who is
the >"X2w 11°M17) interprets it, the 7312w goes back to the »"2m and since n"2Xwn.
31 See footnote # 21.
32 A cursory reading of the X723 indicates that X" explains the ruling of "3 that by P7wn 072w, the rule is n">xwn.
However mooin just concluded (see footnote # 25) that by 1Twn 0771w (even) X" agrees that we say 212, not that
the "2 is 277,
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It makes sense that X''3 would also explain the ruling of »''9 where he states that

TRIPRAY V1AW 77T, to mean 79 2%, but not that X" maintains 1"Xwn by TR DMWY,
rather her agrees with 1" that y»19m.

mooIn qualifies the ruling of 1" K" that »">Rwn:
= BROINT DAY NN HYNIA X

But this ruling of »"°&wn is only specifically by one who is 772 and obligated to

take a NNTIRT AW -
= 3559515 9199 1993 NNNI NNAIND NN 1IVY DN 15 19297 NYaYa YaN

However by a 31297 712w, for instance one who is U@ 232 or a woman who is
7n2wn> n»ae and she died and the collection of her 7712102 fell upon her heirs -
- 369595095 YaYIY 1199 19NV TINN 199N NY
We do not say, »'"">xwn they lose -
= 1950919 38)P¥aW) 1YY D1 3190Y DNON (ow) NOD 29 INY
For 2" ruled one who is 1uw 2312 and dies, his heirs swear and collect the balance

of the debt -
= 0YWN YaWIY D192 1RY TINMD 129DNX XY 19297 NPT RIYV 1390

The reason for this (that we do not say by a 709n 5"™Xwn 11277 7312W) is because

by a J1297 712w we also do not say »'"Rwn -
= 3INY NINN 23D (3,0 97 NP PID DIYD yIWNTS

As is evident previously in the first P99 regarding ‘that shepherd’ -
- 90NYT) 19297 NINAVT 23 Y GNT DI 1 DINNN TaY

33 This is in a case for instance where a »"2m is a Twn and is obligated to take a Xn»X7 7912w or by a X"y ny1aw (like
the case of &o01) if the ¥yan1 (and the ¥21n) cannot swear they each must lose.
3 yuw oyp or 7N2IN5 oD (meaning blemished) is where the M9 or the woman agree that they received partial
payment. Their loan is 0391 it is blemished, not whole. The rule is that they have to swear that they are owed the
balance.
35 The heirs of the M7» or the woman want to collect the debt owed to their parent (from the 7% or the husband; not
from the o'mn” [see later]). However they cannot swear that the debt was not paid off entirely.
36 Saying 17081 9™ RWn is a corollary of D9wn 2">xwn; just like by the ¥an1 if he cannot swear to justify his denial he
has to pay, the same would be that if the ¥21n cannot swear to justify his claim, he loses the right to his claim. 15010
rejects this and maintains that by a 11277 7312w, we do not say 1°7°091 2" Rwn.
37 He admitted before he died that part of the loan was paid.
38 They swear Xax 17p5 R?w (our father never instructed us that this debt was entirely paid off).
3 The case is where a shepherd (who was always given the sheep in the presence of witnesses) claimed one day (when
there were no witnesses) that he did not take any sheep to graze that day. Witnesses testified that he ate two of the
sheep. The &3 asked that since he is 2% a no 1 1w (even though he is not a »"21), and he can not swear, for he
is a T so the 17a10 (the people who are claiming the stolen sheep) should swear. The X723 there answered that 17313
Yaw1 is a 7pn and o AW is also a 7Ipn, so 1172y XY XNIpn? Xnipn. However mson there (1110w 17"7) asks but let
us say n"?°jwn. This proves (according to '01n here) that by a 13277 7312w we do not say n"2°xwn.
40 How can we (also) rule there like " that since the 717 "n° cannot swear, we say 7°097 2""Xwn, but '01n just stated
that by a 131277 712w we do not say »"?°Rwn or 7091 2" RwnA!
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Except by the cases where a%»wns (of the ¥21n) want to collect from the 2203 (of

the vanl), that even though it is a 1297 AY12W (in order to collect from omin’),

nevertheless, we rule -
- 41155113 1N 1PTDON YAYWSY 199199 1IIRY TINN
5'"sxw» they lose and do not collect -
- D9 PN NI XYY 03INN Y HPNY 1Y U NV NYYHYAT NI BYOD NI
And perhaps the reason is that for any excuse we are lenient with the 2°2n° not

to extract money from them -
- 1YY 90INY XY 120 22007 MNTI XNYYA XYY T2y INNIYI 299 TaYT 13299N NPT DN

And it is only specifically there (by 2mn 1 12 2°210°) that we say whoever rules
like w' 9 it is a valid ruling, but not generally, like 1" said there, let us see not

to add on to this ruling of w""; only in this case can we follow their ruling but not in other
cases where the rule will be by a Xn»71%7 both*® n"xwn and 7°09% 2">Xwn and by a 11277 we do not
say either n"2°Xwn or 7091 H"KRwn —

Mmoo responds to an anticipated difficulty:
= 19297 NINAY RIN 22201 19X #1190V 2) DY X ©XIUN DNNIYT XIAM

And that case where both are 2>7wn even though that the 'y7312' (the y21n) is
only 2% a 31297 YW —

mooIn responds:
= NDIINT DAY 29N NNV YanNIN HNNN XA NWAVNIY DIVN 139D TI091) 51 199N

Nevertheless the 7197 loses (half), and that is because the 7312w on the ¥2)n comes

41 This is the view of w". TMY7X ", however maintains 170111 PYawl. We may need to say that (X") 1" agree with
" that even though by a 131277 we do not say 7°09n 2" Xwn, nevertheless by 0¥ it is different as N90IN continues
to explain. However it would be difficult to say that they agree with 217X "1 who maintains 7°097 ¥aw? v >"Rwn
vanaa. For if by vaw°> vain >"x the ¥an1 is 7097, it would seem that by 17Wwn 077°3w where both the ¥21n and ¥ani cannot
swear the 17 should certainly by that the ¥an1is 7°09n (since he is also a 7°097 2""Rwwn); this would contradict the ruling
of (X"M) 1" that by P7wn o the rule is Y121 and not that 2571 o%wn yana.
42 3,mm mwnaw. It is therefore possible that only by 2n°71 73 210> do w1 rule 1Mwo since the 7312w was only on the
vy2n and he cannot swear; however when the 7312w is (only) on the ¥ani1, like "2 or X201, perhaps w1 will agree
that n">"xwn.
43 A Xn»IRT W1V is a serious oath, therefore failure to discharge it casue one to lose that which he would have gained
through the 7312w, Namely if the vani1 has to swear and does not he must pay, if the ¥23n must swear (a Xn>K7 73120,
see shortly in '01n) and cannot he cannot collect. However a 11277 7312w is not that serious, it is implemented just as
either a precaution so the ¥21n should not collect freely or the ¥2n1 should not avoid payment; in these cases if for any
reason they cannot take the oath, they do not lose on account of it.
4 In the case of a n"21m who is a TWwn (he is 277 a RNMRT AY12W), we say that the 17210 (the Mn) should swear; this
N2V is 132777 (for RN*MRTA if the 772 cannot swear he has to pay), and nevertheless we say if the M2 is also 7w the
rule is W12 for we say (regarding the n"2°®wn m?) and regarding the mbn that 1091 9™ Kwn); see footnote # 28.
Seemingly we just said by a 131217 712w we do not say 79091 2""Xwn (see footnote # 36), so why does the m» lose, he
should collect everything since the M? is a 2"°X on a Xn>>7X7 and the 7797 is a 7K only on a 11277?!
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because of the 7312w on the ¥an1 who is 277 a RNMSTINT YW -

= RHMIINTI y2IN2 O NVYN 155
Therefore it is considered like a Rn*>7IR7 7312¥ even for the ¥2Wn, so we can rule
70007 2"RWN.

To summarize N NYWw. 1" and X" agree that we say »"?Rwn by R1y7 X7 ' R1wT 1 and by K02
X"17, since these are X7 My1aw. However by a 11217 712w we do not say* n"2xwn or*é " xwn
7091, except by 2N 2 0MIN° where we can say 7°097% ¥21n7 2™ Xwn and the mn loses (the
opinion of w"7; to which 1"7 may agree because we are lenient by 2°m10°) or say 120 1Pyaws like
A1vox .47 By omwn omnaw the ruling is 3912m because we say both 2"2°Xwn and 77091 2"Xwn so
they both compromise. The 7312w on the ¥210 by 17212 is considered like a Xn»7IRT 7312w since it
comes as a result of a Xn»7IRT AY12W.

mooIn presents a dissenting opinion:
= 12N3 299X NN 7599 9591 19 ONRT PNYY 139295 HNII 1IN)

And this does not appear correct to the 59, for if indeed it is so, how does the

X3 ask on 1''1 -
= NFYY NYY N NN ININYIY 2999 NSON IN 99087

Who stated, ‘if the ruling of @'"v1 is valid, it is always valid, and if it is not valid,

it is never valid’ -
- Y2I9MT RT2IY 1IN 29 T2y KM 199 NPODM NNAYN NIPN NIPN IN 7>99)

So the X713 asks, 1" is saying ‘KPR RNSX X, indicating that 1"7 is uncertain
whether the 75%7 is like w" or not, but 2" ruled in an actual case (by 7w

D7) that Y2 9m; seemingly arguing with w"7 who maintain that the yani is 11w9.5° This
concludes the citation of the X713, Md0IN continues with his question.

45 See footnote # 39.
46 See footnote # 38.
47 See footnote # 41.
4 x,mn mynaw.
4 This is regarding the ruling of 2n°71 12 210° require a 712w, However W' qualified this ruling, saying the omin
can collect only if M7 »na M nn, however if Mo »n2 M2 N1 so the MY» was already 21 a 7¥12W to the 20> and
1°12% AY12w WM OR PR, so they cannot collect. See footnote # 12 & 13. *ax 27 further qualified this statement of w"2
that even when m>» »na m> nn but the 797 did not take the M> to 7"*2 (and then he died) the m7» *»an° can collect from
17 *nn° (only if the 7797 took the 777 "nn° to 72 and they were 2 a 7312w and then he died, then the m>» “an> cannot
collect from m? "nn°). However, 1" disagreed with *»& 27 and stated if the ruling of w"¥7 is correct (that w7 o78 TR
1125 7312w) then it is correct whether the 71 took the M7 *n° to 72 or not (not like *»& 27) and if w"11 are not correct
(but rather one can be 1°12% 7¥12Ww w>7M) then W™ are always incorrect (even if the m>» took the 172 M »n2). In any
event it is understandable from s'1"7 expression 131 RN 5K "1 Xn°X °X that 1"7 was not sure whether the 1377 is like
w'"M or not.
30 See >"wA there 171> 7" who explains the s'Rn3 question as follows; 27 rules 2m by 1RW XA2 XoA77 PTWNR OPIW
DRMAWY 277 R RNOD RaDR vawh 9197 177 0N,
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= ININYI 2990 929 920 8 11INI 39 XM

But what is the question for 1'% can indeed agree with @w''Y9 that by omnn 12 oo

they do not collect, since the m7» N> cannot swear -
= Y091 YAINN YAV D10 11XV TINMD 52 NP 5N NNT

For 1" also maintains that if the Y20 cannot swear he loses -
= S2ON1MIYI 29 9920 923 99N S1OYTIVN DAY IPITNY NIMT NN TaH

Which explains s'1"1 ruling of yp¥2m by 2°7wn am°w, and @' maintain this as
well —

MooIN anticipates a possible answer to his question on the n"~:
= SB3HNINYIY 297 XN 1D NN INT 19N 29 XN 1D NPODMN NN 7999 IN)

And if the X773 is asking since 1"7 states "1 Xn°X X', it is evident that he is in
doubt whether the 7257 is like w"9, but 12'"9 certainly agrees to @' —

mooIn rejects this solution:
=997 YNPYN RY RN NN ONT NIYIY NN

But the syntax of the question, 'Sn°R X1 aR', does not indicate that the X3 is saying

how can there be a doubt, for 1" certainly agrees with w"17, for if that was the intent of the question -
= 199 RPOUN NNPYN RNYY NNY ONX 919919 Na9NR 70 MnT

On the contrary the X3 should have stated, how can 1" say 8nv% xn"h aN,
indicating that 1" is uncertain, when we know that 1"1 agrees with ",

mooIn has an additional difficulty with the s'&7 73 question on 1"7 (according to prorupted answer):
= Y35 NNNN NPAY YIIND ANAT DITIVUN DNIYYA RPIT NNIDT 5579

And also, perhaps only specifically in the case where both are 7w, so the 7yaw

to the ¥2n comes on account of the yan: -
- 095 YaWIY 9197 139NV TINM 1IN 29 TN RIININT AMAY 29MNNT

Who is 29717 a Xnv1I87 7912w, only in such a case does 1'7 rule 79952 ' xwn -

31 See footnote # 28. See also footnote # 41 where it is indicated that 1"1 seemingly agrees with w".
32 They maintain since the M%7 "N cannot swear (for 1°12% AY12W W 07X PR) therefore Toon 5" xwn. [Even though
nmoon stated previously that by a 131277 nv12w we do not say 7°09n ?™Rwn (and 2N 2 DN is @ 11277 AY1W).
However, noon previously agreed that by o'mn° we are willing to be very lenient and say 7°091 2" xwn.]
33 Mmoo just suggested that they all maintain 7°09% 2"Xwn. See footnote # 51.
54 See X"wn. It seems that X073 N19OIN in that (X,7m My1Iw) X3 (after 1" said 'kN*H XNPH OX1 RR w"I77 ROR OX')
was, 9 Rpodn X178 RNR Xn°X OX'. However here is it how it appears in our texts; 3979 RNR R 72773 29 2R KR
% RpDoR RRDR RNYD XMV IR RMOR 2R, There is no mention in the X3 (not by 1"7) of either Xn°X XX oX or OX
XN RN7.
55 The previous purported answer was that the 113 asked how can 1"1 not be sure that the 75977 is like w"n, since we
can infer from Y2 27w oW that 1" agrees with W™ that ¥21n77 70097 5™ KXwn. However nson asks why is the
R assuming that 1"7 certainly agrees with w'"17, since the two cases are different from each other.
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— Y979 HNINIYY 299 NONNA XYY N 19239 WY9TH
As the n"'= himself explained,*® but not in the case of @' as I explained® —

mooIn has an additional question
=907 AWV NN ININRT D223V 13°MIT NI 35D 1N

And furthermore how is it evident that the 22w 11°n127 who explain n"1 (who

says MR AYIAW 79I7) to mean S39%% J¥1aw 777 (and he cannot collect); how do we
know that these 722w 11° 2" -
= DN 1 DN NN INMNYI 29 139N

Are @'"11 because how they rule by 2720377 32 292109 (that they cannot collect) -
- SEHNIYWI 297 9205 PYIDY 11N 291 AN 29 1999 NN N9
But is it not so that there even 1" R''9 can agree with @''19 that they do not collect -
- 592191 1N 1Y 29INNY NPAY NN POV 19202 INIMYI 299
And 2''%7 can properly maintain that by 2>7wn 071w the rule is either awaw 790
79 2991® (and he has to pay) or Yy (like 1"7), not like n"A -
= 7091 YawrY 199 19’NRY M »930 NPT
For v"11 maintain whoever cannot swear loses. How can the X7n3 therefore say that the
view of W' regarding 207 1 200 is a basis to say that by °°0% 7y12w 777 PTIWN 27w and
the ¥y21n does not collect when it does not seem so at all.

To summarize; The *"1 asks two basic questions on the n"7. Why does the Xn3 find it difficult that
1" is unsure whether the 73971 is like w1 by 201 1 220 since 1"1 maintains 1217 (by 07°1w
77wn), when these two rulings are mutually acceptable according to the n"9. Additionally how
can the X713 assume that the 922w 11°M127 who interpret 2" to mean >1°0% 7¥12W 7717 is PXMWI 2,
when ¥"17 may even agree with 1"1 by PTWwn omIw.

mooIn continues with the view of the ¥"1:
= PIPON PN NAN 23997 N92ID 199 RVIWOT ¥YIWN NION

It is evident that it seems that it is obvious to the X9%3 that according to R''9

there is no difference who cannot swear -
= ¥295 IN 29NN YaN) ON NIY XY NIN

Rather there is no difference whether the ¥ani is 299 and cannot swear or the

YN is 21 and cannot swear -

% See previously immediately after footnote # 44. By P7wn 077w we consider the ¥y ny1aw like a Rn™IXT 7912w,
57 Footnote # 36. By 1"TWn omaw since the Ay1aw p°Y on the ¥anl is a XN™IRT 72w therefore we say that the 7y1aw
on the ¥21n is also like a Xn»>XT 72w and 9™ xwn the ¥ani loses. However by 2omn’i 1 oo n° where the 72w p%w
on the Y210 is 13127179, in such a case if he cannot swear why should the ¥21n (the %17 "an°) lose?!
8 See footnote # 41.
3 1% 271nY is the view of X" according to »"7, and 11 is the actual view of 1"71 X"
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- ¥aMIN BYVYM YAYIY 1IN TANR 9199 1IINRY TINN O9YY
Always the rule is (according to X"7), that if one of them cannot swear the yan:

pays (not as the n"1 stated that if the ¥21n cannot swear, he loses) -
= HNIIYHY 297N 19N 29N NAN 229 1D ¥anNIN N0V ONYDY HNMYI 299

And according to w''19 the yan: is always 91D (even if the ¥yan1 cannot swear [like

by X1v7° R '1]) and X' argues with 1'% (who maintains 1171°) and with 2''y9 (who

maintain that the ¥ani is always 79, even if he cannot swear) -
= ININIYY 29 139917 9900 DAY NN SIINT IMAYT 929V NI 1o

So therefore the X713 rightfully proves that 522w 11903129 that say "1°0% Ayaw 7910

and he does not collect, they are @' -
= HNINYI 39N NAN 229 1097 ¥WN NOID 1919

And from the entire discussion in the X713 it seems that X' argues with @'y -
= NI92N©1) NAN 2297 NP9 XA 9INPT

For 27 stated it is logical the way X''9 rules; indicating that he disagrees with w" -
= 99997 ¥NYWN N1 YYIT INN DNNY )2 INN HNNYI 29 19

And also when the X3 asked®® how do @' expound the 2109 of amw 3, this
too indicates that w"1 argue with x".

To summarize; the >"1 maintains according to X", the rule ¥anin »n">°Xwn is universal, whether the
>"X is the ¥210 or vani. According to w1 the universal law is ¥ann Mwd 5™ xwn. According to 1"
the rule is always P17,

mMooIn mentions the response of the N1 to the last question of the *":
= ININYI 39 DA3AW 13997 NI POTPT IPIYT WO 0N 1929

And the n"'1 explained that the main inference of the X773 that 22w 1150121 are

@'"19 is not because of their ruling by 2077 12 210> (as the > correctly asked), but rather it -
= INIMIYY 29 D233V 1997 ONN )Y NPT (0w 2,0 97 1PITNIVT NP PION 7100

Is based on the first pap of 9770 NOon. Where it was established there that

‘922w 19M27’° refers to W' (nothing to do with their ruling of Dmn i 1 ) -
- 49 NPT ININYI 29 H23aY 1390129 YIND 991)

And this is what the X773 meant in My12w that ®22w 119012 are @', as we have

established elsewhere in 7777710 'on -
= 19329 AMAaY VI DTN PN Y 922047 ") INY 12y

And additionally we also are aware that v"7 maintain 5125 7292 @S9 27X PN -

60 The X»3 in 2,7 My12w explained that according to X" who maintains n"2°Xwn we understand the w17 of 2771w 2
PRIV I 12 R (see X7 27 7"7 'on [TIE footnote # 40]), however according to w" who disagree with n"?°xwn,
how will they explain this 7wA7.
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= 139793 111D PNYS YAWY 5192 13N NV 1T DY 29MNNT 11297
For since the litigant is obligated to swear and he cannot the money remains

where it is (and the same will apply by 1"71wn o7°2w that the money remains where it is) -
SN PO YANIY YN 192 10D SINY XD

And "1 do not differentiate between the ¥21n and the yan: who is obligated to
swear and cannot. In all cases we cannot collect. The is the response of the n"-.
However ns501n concludes that this explanation is a Pm<7 (awkward).

Summary
Known:

Our mwn maintains by X1v7> X2 "1 X7 "1 that n"2°&wn (according to 1").

By X"17 X001, X"1 maintains »n"?Xwn.

By pmwn amaw; o1 " (and 1"1) maintain 31910, 2" according to X" maintains
n">®wn, according to w"17, 1" maintains WD,

TYIAWA ROR WD KD o A pne if MY ona mvn na. If % »na M nn according to
STYOR M, the 0mn° can collect (provided they swear 1w 7y12w) because whenever
either the ¥21n or ¥ani cannot swear the ¥yani pays According to w1 the 1210 are
"o (for we never say n"2°Rwn).

Thinking it over

1. Can we distinguish between 11¥7 X? '11 X7 '1 where 1" rules #"72°Xwn since there
is a XN>7RT 7912w on the X»w (and there is no 7PN of 17M12), so we say n"2°Rwn,
however by 2>71wn '3, since there also was an obligation (1"1pn 197) on the MY to
swear®!' and he cannot therefore we do not say »n"?Rwn.

2. It seems from Moo that XaR "1 agrees with T1¥%X " that (even) if the ¥21n cannot
swear, the ¥an1 pays.®? However the ruling of Xax "1 by X001 (that »"2°Xwn) is where
the ¥vani could not swear; from where does n1901n derive that even if the ¥21n cannot
swear XX " rules n"?"Rwn?

61 See footnote # 7.
92 See footnote # 16.
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